B001152

01089

IRS USE ONLY

SB W

200742 CP:



Department of the Treasury Internal Revenue Service P.O. Box 480 Holtsville, NY 11742-0480

002005.383052.0009.001 1 AT 0.334 926

Illianallillanlahdamilallandallahadalahadd

29247-709-00106-4 0 0

For assistance, call:

1-800-829-8374 Your Caller ID: 868081

Notice Number: CP71A

Date: October 29, 2007

Taxpayer Identification Number:

Tax Form: 1040A

Tax Year: December 31, 1999



DAVID P FONTAINE

002005

Reminder: You owe past due taxes for 1999

Amount Owed:

Pay by:

\$17,510.80

November 19, 2007

Why am I getting this notice?

You have a past due tax balance for 1999. By law, we must tell you each year how much you owe. We will send you a notice for each tax year for which you still owe.

What should I do?

If you can make a payment:

- 1. Make your check or money order payable to the United States Treasury. Write tax year 1999 and this Social Security Number (payment.
- 2. Complete and detach the payment stub at the end of this notice.
- 3. Send the stub and your payment in the enclosed envelope.

If you can't pay the full amount owed:

- 1. Pay as much as you can now.
- 2. Review the Payment Options listed on the back of this page.
- 3. Call us at 1-800-829-8374 if you want to discuss payment options for the amount not paid.

Reminder! If you don't pay the amount owed by November 19, 2007, we will continue to add penalties and interest until the amount is paid in full.

Brookhaven Service Center

Tax Period:

December 31, 1999

Penalty and Interest

About Your Notice - The penalty and/or interest charges on your account are explained on the following pages. If you want a more detailed explanation of your penalties and interest, please call the telephone number listed on the top of this notice. You may call your local IRS telephone number if the number shown on your notice is a long-distance call for you. All days mentioned in the paragraphs below are calendar days, unless specifically stated otherwise.



Interest: \$3,268.40

002005

09 Interest

We charged interest because you did not pay your tax on time. We multiplied the factor times the principal. Generally, we calculate interest from the due date of your return (regardless of extensions) until you pay your tax in full. The interest rate is variable and may change quarterly. We charge interest on all penalties except estimated tax penalties.

(Internal Revenue Code section 6601)

The table below shows how we figured your interest. We multiplied the factor times the principal.

From Date	To Date	Days	Rate	Factor	Principal	Interest
04/15/2000	09/30/2000	168	9.0%	0.042171375	9002.53	379.65
09/30/2000	12/31/2000	92	9.0%	0.022877946	9382.18	214.65
12/31/2000	03/31/2001	90	9.0%	0.022437053	9596.83	215.32
03/31/2001	06/30/2001	91	8.0%	0.020143211	9812.15	197.65
06/30/2001	12/31/2001	184	7.0%	0.035914165	10009.80	359.49
12/31/2001	06/30/2002	181	6.0%	0.030197962	10369.29	313.13
06/30/2002	12/31/2002	184	6.0%	0.030706088	10682.42	328.02
12/31/2002	06/30/2003	181	5.0%	0.025102720	11010.44	276.39
06/30/2003	09/30/2003	92	5.0%	0.012681615	11286.83	143.14
09/30/2003	12/31/2003	92	4.0%	0.010132630	11429.97	115.82
12/31/2003	03/31/2004	91	4.0%	0.009994426	11545.79	115.39
03/31/2004	06/30/2004	91	5.0%	0.012508429	11661.18	145.86
06/30/2004	09/30/2004	92	4.0%	0.010104808	11807.04	119.31
09/30/2004	11/22/2004	53	5.0%	0.007266214	11926.35	86.66
11/22/2004	12/31/2004	39	5.0%	0.005341721	14242.40	76.08
12/31/2004	03/31/2005	90	5.0%	0.012404225	14318.48	177.61
03/31/2005	09/30/2005	183	6.0%	0.030536685	14496.09	442.66
09/30/2005	12/31/2005	92	7.0%	0.017798686	14938.75	265.89
12/31/2005	06/30/2006	181	7.0%	0.035318388	15204.64	537.00
06/30/2006	12/31/2006	184	8.0%	0.041148414	15741.64	647.74
12/31/2006	06/30/2007	181	8.0%	0.040464123	16389.38	663.18
06/30/2007	10/29/2007	121	8.0%	0.026872363	17052.56	458.24
				Total	Interest:	6278.88

Additional Interest Charges

If the amount you owe is \$100,000 or more, please make sure that we receive your payment within 10 work days from the date of your notice. If the amount you owe is less than \$100,000, please make sure that we receive your payment within 21 calendar days from the date of your notice. If we don't receive full payment within these time frames, the law requires us to charge interest until you pay the full amount you owe.

Page 3

01089

IRS USE ONLY

SB W

200742 CP:

71A



Department of the Treasury Internal Revenue Service P.O. Box 480 Holtsville, NY 11742-0480

002004.383052.0009.001 1 AT 0.334 926

19254-590-64202-3 0 0

For assistance, call:

1-800-829-8374 Your Caller ID: 868081

Notice Number: CP71A Date: October 29, 2007

Taxpayer Identification Number:

Tax Form: 1040A

Tax Year: December 31, 2000



DAVID P FONTAINE

002004

Reminder: You owe past due taxes for 2000

Amount Owed:

Pay by:

\$7,597.11

November 19, 2007

Why am I getting this notice?

You have a past due tax balance for 2000. By law, we must tell you each year how much you owe. We will send you a notice for each tax year for which you still owe.

What should I do?

If you can make a payment:

- 1. Make your check or money order payable to the United States Treasury. Write tax year 2000 and this Social Security Number
- 2. Complete and detach the payment stub at the end of this notice.
- Send the stub and your payment in the enclosed envelope.

If you can't pay the full amount owed:

- 1. Pay as much as you can now.
- 2. Review the Payment Options listed on the back of this page.
- 3. Call us at 1-800-829-8374 if you want to discuss payment options for the amount not paid.

Reminder! If you don't pay the amount owed by November 19, 2007, we will continue to add penalties and interest until the amount is paid in full.

Brookhaven Service Center

Tax Period:

December 31, 2000

CP:

71A

Penalty and Interest

(

About Your Notice - The penalty and/or interest charges on your account are explained on the following pages. If you want a more detailed explanation of your penalties and interest, please call the telephone number listed on the top of this notice. You may call your local IRS telephone number if the number shown on your notice is a long-distance call for you. All days mentioned in the paragraphs below are calendar days, unless specifically stated otherwise.



Interest: \$1,740.52

002004

09 Interest

We charged interest because you did not pay your tax on time. We multiplied the factor times the principal. Generally, we calculate interest from the due date of your return (regardless of extensions) until you pay your tax in full. The interest rate is variable and may change quarterly. We charge interest on all penalties except estimated tax penalties.

(Internal Revenue Code section 6601)

The table below shows how we figured your interest. We multiplied the factor times the principal.

From Date	To Date	Days	Rate	Factor	Principal	Interest
04/15/2001	06/30/2001	76	8.0%	0.016795189	5047.00	84.77
06/30/2001	12/31/2001	184	7.0%	0.035914165	5131.77	184.30
12/31/2001	06/30/2002	181	6.0%	0.030197962	5316.07	160.53
06/30/2002	12/31/2002	184	6.0%	0.030706088	5476.60	168.16
12/31/2002	06/30/2003	181	5.0%	0.025102720	5644.76	141.70
06/30/2003	07/28/2003	28	5.0%	0.003842718	5786.46	22.24
07/28/2003	09/30/2003	64	5.0%	0.008805061	6597.95	58.10
09/30/2003	12/31/2003	92	4.0%	0.010132630	6656.05	67.44
12/31/2003	03/31/2004	91	4.0%	0.009994426	6723.49	67.20
03/31/2004	05/07/2004	37	5.0%	0.005067094	6790.69	34.41
05/07/2004	06/30/2004	54	5.0%	0.007403819	5672.41	42.00
06/30/2004	09/30/2004	92	4.0%	0.010104808	5714.41	57.74
09/30/2004	12/31/2004	92	5.0%	0.012646750	5772.15	73.00
12/31/2004	03/07/2005	66	5.0%	0.009081465	5845.15	53.08
03/07/2005	03/31/2005	24	5.0%	0.003292856	5908.23	19.45
03/31/2005	09/30/2005	183	6.0%	0.030536685	5927.68	181.01
09/30/2005	12/31/2005	92	7.0%	0.017798686	6108.69	108.73
12/31/2005	06/30/2006	181	7.0%	0.035318388	6217.42	219.59
06/30/2006	10/09/2006	101	8.0%	0.022381348	6437.01	144.07
10/09/2006	12/31/2006	83	8.0%	0.018356229	6982.41	128.17
12/31/2006	06/30/2007	181	8.0%	0.040464123	7110.58	287.72
06/30/2007	10/29/2007	121	8.0%	0.026872363	7398.30	198.81
				Total	Interest:	2502.22

· Additional Interest Charges

If the amount you owe is \$100,000 or more, please make sure that we receive your payment within 10 work days from the date of your notice. If the amount you owe is less than \$100,000, please make sure that we receive your payment within 21 calendar days from the date of your notice. If we don't receive full payment within these time frames, the law requires us to charge interest until you pay the full amount you owe.

Page 3

B001154

01089

IRS USE ONLY

SB W

29247-678-00217-4 0 0 For assistance, call:

Your Caller ID: 868081

Notice Number: CP71A

Date: October 29, 2007

1-800-829-8374

200742 CP:

71Δ

In P

Department of the Treasury Internal Revenue Service P.O. Box 480 Holtsville, NY 11742-0480

Rx 10/27/07

002003.383052.0009.001 1 AT 0.334 926

46

Taxpayer Identification Number:

Tax Form: 1040A

Tax Year: December 31, 2001



DAVID FONTAINE

002003

Reminder: You owe past due taxes for 2001

Amount Owed:

\$987,088.20

Pay by:

November 13, 2007

Why am I getting this notice?

You have a past due tax balance for 2001. By law, we must tell you each year how much you owe. We will send you a notice for each tax year for which you still owe.

What should I do?

If you can make a payment:

- Make your check or money order payable to the United States Treasury.
 Write tax year 2001 and this Social Security Number () on your payment.
- 2. Complete and detach the payment stub at the end of this notice.
- 3. Send the stub and your payment in the enclosed envelope.

If you can't pay the full amount owed:

- 1. Pay as much as you can now.
- 2. Review the Payment Options listed on the back of this page.
- Call us at 1-800-829-8374 if you want to discuss payment options for the amount not paid.

Reminder! If you don't pay the amount owed by November 13, 2007, we will continue to add penalties and interest until the amount is paid in full.

Brookhaven Service Center

Tax Period:

December 31, 2001

Penalty and Interest

About Your Notice - The penalty and/or interest charges on your account are explained on the following pages. If you want a more detailed explanation of your penalties and interest, please call the telephone number listed on the top of this notice. You may call your local IRS telephone number if the number shown on your notice is a long-distance call for you. All days mentioned in the paragraphs below are calendar days, unless specifically stated otherwise.



Interest: \$181,911.33

002003

09 Interest

We charged interest because you did not pay your tax on time. We multiplied the factor times the principal. Generally, we calculate interest from the due date of your return (regardless of extensions) until you pay your tax in full. The interest rate is variable and may change quarterly. We charge interest on all penalties except estimated tax penalties.

(Internal Revenue Code section 6601)

The table below shows how we figured your interest. We multiplied the factor times the principal.

From Date	To Date	Days	Rate	Factor	Principal	Interest
04/15/2002	06/30/2002	76	6.0%	0.012570476	587405.91	7383.97
06/30/2002	12/31/2002	184	6.0%	0.030706088	594789.88	18263.67
12/31/2002	06/30/2003	181	5.0%	0.025102720	613053.55	15389.31
06/30/2003	09/30/2003	92	5.0%	0.012681615	628442.86	7969.67
09/30/2003	12/31/2003	92	4.0%	0.010132630	636412.53	6448.53
12/31/2003	03/31/2004	91	4.0%	0.009994426	642861.06	6425.03
03/31/2004	06/30/2004	91	5.0%	0.012508429	649286.09	8121.55
06/30/2004	09/30/2004	92	4.0%	0.010104808	657407.64	6642.98
09/30/2004	10/25/2004	25	5.0%	0.003420905	664050.62	2271.65
10/25/2004	12/31/2004	67	5.0%	0.009194391	759622.95	6984.27
12/31/2004	03/31/2005	90	5.0%	0.012404225	766607.22	9509.17
03/31/2005	09/30/2005	183	6.0%	0.030536685	776116.39	23700.02
09/30/2005	12/31/2005	92	7.0%	0.017798686	799816.41	14235.68
12/31/2005	06/30/2006	181	7.0%	0.035318388	814052.09	28751.01
06/30/2006	10/09/2006	101	8.0%	0.022381348	842803.10	18863.07
10/09/2006	12/31/2006	83	8.0%	0.018356229	907220.09	16653.14
12/31/2006	06/30/2007	181	8.0%	0.040464123	923873.23	37383.72
06/30/2007	10/29/2007	121	8.0%	0.026872363	961256.95	25831.25
				Total	Interest:	260827.69

* Additional Interest Charges

If the amount you owe is \$100,000 or more, please make sure that we receive your payment within 10 work days from the date of your notice. If the amount you owe is less than \$100,000, please make sure that we receive your payment within 21 calendar days from the date of your notice. If we don't receive full payment within these time frames, the law requires us to charge interest until you pay the full amount you owe.

Page 3